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Areas of Parallelograms 
and Triangles

1.	 Figures (i) and (iv) lie on same base and between the 
same parallels.

Common base Two parallels
Figure (i) SP SP and QR
Figure (iv) DC DC and PB

2.	 We know, area of ||gm = Base × Height
\	 ar (||gm ABCD) = AB × DL = (AD × BM)
\	 12 × 6 = AD × 8 ⇒ AD = 72/8 cm = 9 cm
3.	 Since, DAPD and parallelogram ABCD are on the 
same base AD and between the same parallels AD and BC.

\  ar (DAPD)= 
1
2  ar(||gm ABCD) = 1

2
80×



  cm2 = 40 cm2

[Q ar (||gm ABCD) = 80 cm2]
4.	 Join CD.
Since, D is the mid-point of AB. So, CD is the median of 
DABC.
\	 ar (DBCD) = 1

2
ar ABC( )∆  [Q Median of a triangle 

divides it into two triangles of equal area.]

⇒	 ar(DBPD) + ar(DDPC) = 1
2
ar ABC( )∆ � ...(i)

Since, DDPQ and DDPC are 
on the same base DP and 
between the same parallels 
DP and CQ.
\	 ar (DDPQ) = ar (DDPC)	  ...(ii)
From (i) and (ii), we get

ar (DBPD) + ar (DDPQ) = 1
2
ar ABC( )∆  
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\	 ar (DBPQ) = 1
2
ar ABC( )∆

Hence proved.
5.	 Since, AD is a median of DABC.

\	 ar(DABD) = 12 ar(DABC)
[Q Median of a triangle divides it 
into two triangles of equal area.]

= ×1
2
96  [Q ar (DABC) = 96 cm2]

= 48 cm2

Also, BP is a median of DABD. 
(Q P is the mid-point of AD)

\	 ar(DABP) = 12 ar(DABD) = × =1
2

48 24 2cm

6.	 Given, a parallelogram 
PQRS, where O is any point on 
the diagonal PR.
Now, join SQ which intersects 
PR at B.
As we know, the diagonals of a parallelogram bisect 
each other, so B is the mid-point of SQ.
⇒	 PB is a median of DQPS. 
\	 ar (DBPQ) = ar (DBPS)  ...(i) [Q Median of a triangle 
� divides it into two triangles of equal area]
Also, OB is the median of DOSQ.
\	 ar (DOBQ) = ar (DOBS)� ...(ii)
Adding (i) and (ii), we get
ar(DBPQ) + ar (DOBQ) = ar (DBPS) + ar (DOBS)
⇒	 ar (DPQO) = ar (DPSO)
Hence proved.
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